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Solve the mequallty Graph the solutlon

Lo-12<y-17- 2 wil8<25

oveisg a2 r e

B T SR T T
T T4sc+39 0 8. p—102 >35

9. You and two friends are drvmg for lobster ‘The maximum number of
- lobsters you may have on your boat is18. You currently have 7 lobsters

- a. erte and solve an 1nequal1ty that represents the add1t1onal lobsters that
you may catch - _ .

5 b Another frlend comes on your boat and he has 3 lobsters You may now |
have 24 lobsters on your boat. Write and solve an 1nequallty that
represents the add1tronal lobsters that you may catch

: c How many lobsters 18 each person allowed to catch‘?

| Wnte and solve an mequallty that represents the value of x

- 10. The length 1s_ greater than the_ _w1dth, . 1. The per1meter is less than '
o R i . T ot equal to 50 inches.

x+4

an;

| | | 5 I,
| 12 The solu‘non of W= ¢ > —3 4 1s w > -1 4 What 1s the value of c‘?

13. The trzangle mequalzty theorem stafes that the sum of thc lengths of ¢ any

- two sides of a triangle is greater than the length of the third side. A triangle
~ has side lengths of 6 1nches and 17 inches. What are the. poss1ble values for
- the length of the third s1de‘? Explam how you found your answer.
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P3N Practice B

" Solve the inequality. Graph the solution.

sy 2. 32 <2

Ry 10

3. 1.6g > 0.48 4. 2.5k < -100

B S s a5 6. -2 < ox
MR 5

~ Write the word sentence as an inequality. Then solve the inequality.
7. A number divided by 5 is at least 4,

8. The product of 2 and a number is at most —6.
. 9. The solution of ex > —4isx > —8. What is the value of ¢?

. Solve the inequality. Graph the solution.

10. —6t < 24 M, 2o ¥
- 5= 0
2. -4 <19 13. 4.3
" 2 7%
14, -12 < —0.8r 15, . <15
| )

16. The height of a room is 10 feet. You are building shelving from the floor
' to the ‘ceiling.

i‘. a. Each shelf requires 8 inches. Write and solve an inequality that
‘ represents the number of shelves that can be made.

b. You forgot to include the thickness of each shelf in your measurements.
~ The amount of space needed for each shelf is actually 10 inches. Write
and solve an inequality that represents the number of shelves that can be
made.

_ DeScribé all‘numbers that satisfy both inequalities. Include a graph with
- your description.

17. 3x < 12 and —3x < -3 18. % < -2 and -% > 1
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